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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
IEEL 40,000 40,000 0
024 UYE 2 2 S8 7Y
40,000,000& 40,000
207 ARl 30,000 30,000
03 Al 2HI 30,000 30,000
O HTHBH DILIMZ AL & HE
30,000,000& 30,000
A ZHEB2A 2 213,373 221,336 AT,963
101 @124H| 87,273 83,100 4,173
M ORINZZ2NSE S 87,273 83,100 4,173
O AL 28 223
76,9602 x14H 81 87,273
201 er23| 106,100 98,236 7,864
01 AtR2t2|HI 13,900 12,636 1,264
O+ 13,900
ORoEHIES 2,100,000& 2,100
(OFSPIRIFSET L] 6,800,000 6.800
OF=I| = (20H) 500,000 500
OICT(2AAMAHAIAL) RXE+ At
3,000,000 3,000
OJIEt =88l € MRES 500,000 500
OSTAIE A 2FXelAlE FAEAH
1,000,000 1,000
02 s5=34l 92,200 85,600 6,600
OZ2Z323LHA 92,200
oMIR=s & St=e &
6,550,000& «12& 78,600
Oa=k 2= 3,600,000 3,600
OAEEHIR XY 10,000,000& 10,000
207 ARl 20,000 40,000 /20,000
03 Al -2HI 20,000 40,000 /20,000
ONSHHAI, BIOIHAAZEE Al S
20,000,000 20,000
Mls & MES T Ase2 20,000 7,000 13,000
206 M=l 20,000 7,000 13,000
01 M= HI 20,000 7,000 13,000
OMIIz & MES Y 45 Mz
20,000,000 20,000
UTHER A AN MAH(EX) 550,000 0 550,000
= 200,000
< 75,000
Al 275,000
401 Al HIZL S 0HYI 400,000 0 400,000
= 200,000




M =28
B MASH2HY
ol HHsg SAAgL 23 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 200,000
01 AlZ2H| 400,000 0 400,000
OLHTHHHAIE JHE = 400,000,000 400,000
[ 200,000
Al 200,000
405 AHAHE S 150,000 0 150,000
& 75,000
Al 75,000
01 It =S F = 150,000 0 150,000
OZ =SSN A FHl 2
150,000,000 150,000
= 75,000
Al 75,000
sy dHYa! 4,938,676 3,062,366 1,886,310
= 1,541,170
== 1,003,444
Al 2,3%4,062
Ol (ADIER)RSAY 3,352,360 1,985,300 1,367,060
= 1,091,500
= 573,750
Al 1,687,110
ADIER H#EE= U I8l S XY (EX) 280,000 0 280,000
= 140,000
= 98,000
Al 42,000
201 eer23y| 180,000 0 180,000
= 90,000
= 63,000
Al 27,000
01 At2teltl 20,000 0 20,000
Osidlee 2394 M=
15,000,000 15,000
= 7,500
& 5,250
Al 2,250
Osilge] E2=8 M 5,000,000& 5,000
= 2,500
< 1,750
Al 750
2 s5=34l 60,000 0 60,000
OSUg| SEIIEAE 2l
20,000,000 20,000
= 10,000
= 7,000
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3 sgIy=Iqt
C2l: OIS (ADIER) REAY (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAHOIM B B Saa
2,500,000& 2,500
02| oEBR| B 442
3,500,000& 3,500
O2=+H3tx 22l 9|
1,000,000& 1290 & 12,000
OUIYE =7 s
2,500,000 *23] 5,000
O=¢gtl 3,000
OADIEY sl =8
3,000,000& 3,000
2 35244l 339,160 97,000 242,160
OZ2Z22ZLHAl 206,100
oMIIRS 90,000,000& 90,000
O&+k 2= 10,000,000 10,000
OFII&| AT B
1,625,000 42 6,500
osdy| tHEE 100,000 100
0 L AZ2A M2
99,500,000 99,500
OAIZZEH| =X 133,060
OROAIAES =2 84,080
-2E WA 60,000,000 60,000
-2HE 2 A WA
10,000,000 10,000
~EHE 2 GITA 2L
10,000,000& 10,000
AHY 2AH 4B
170,000 x20H* 12 4,080
OXNEAAE FXlc| S
21,600,000 21,600
(OPSEEESEn 2,700,000& 2,700
ogli=4 Alg € &Hl =Al2c 24,680
-HHE BIY WA
160,000 *2JH 2~ #2404 7,680
-d+d =8 g HY
800,000 * 100K 2 8,000
-BIX =EXY 300,000 *30H 9,000
202 04| 4,500 4,500
01 2LHoIH 4,500 4,500
OANIES Salde| g4
4,500,000& 4,500
206 M=l 9,000 9,000
01 M=4l 9,000 9,000
OX& I, &1 A= 9,000
OXLIE 228 5% S 1,000,000& 1,000
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M =28
3 sgIy=Iqt
el Oldl=sY(ADIEE)2SAIY (SH &)
SA - B BRA(SH) - HRA - of v e HIDE2
osS&® #¥ 2,000,000& 2,000
(OFSAL=S= 1,000,000& 1,000
OJIHEHIES 1,000,000 1,000
OLUEE 1,000,000& 1,000
Ozs & oigl 2=t 3,000,000& 3,000
401 Al HIZ 2018 778,700 400,000 378,700
01 Al&H| 774,900 400,000 374,900
X MR AEES DA 714,900
O=BAIR 2 DYE])
50,690,000 104 506,900
OFH ?M & 2 &X
100,000, 0002 *2H 2~ 200,000
OLMAOIXI £X 200,000 *40H 8,000
O&DIXt S&I1 £X 30,000, 0002 =2CH 60,000
03 AlZ = THHI 3,800 0 3,800
OADIEY Sl 28 AIZ20H
3,800,000& 3,800
ADIEY Salde| HHAS MHIA XAG(EX) 1,311,000 0 1,311,000
= 655,500
== 327,750
Al 327,750
308 AFAIEHMSOIE 1,311,000 0 1,311,000
= 655,500
< 327,750
Al 327,750
11 S| 2SO0 UeZB XA AIE 1,311,000 0 1,311,000
OADIET HAYR| ASXE AHIA
1,311,000,000& 1,311,000
= 655,500
= 327,750
Al 327,750
SICIOIHAE OIoIE AMHIA X 592,000 0 592,000
= 296,000
= 148,000
Al 148,000
308 AtAIEMSOIE 592,000 0 592,000
= 296,000
= 148,000
Al 148,000
07 MXISHHARE = 592,000 0 592,000
O UIOIEHME IOIH MEIA K&
592,000,000 592,000
= 296,000
= 148,000
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M =28
B =oiAmMeiYs)
ool DIHs 2 (ADIER) A COR
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| | Al 148,000
AMEZge =4 1,586,316 1,067,066 519,250
= 449,670
= 429,694
Al 706,952
SRS 39,776 89,696 249,920
201 Zet=3h] 26,000 36,000 10,000
01 AtR2t2|HI 16,000 16,000 0
O et=2H]| 10,000
OSAMARE JRF 2,000,000 2,000
OB Aot AAANLY L= IJHMA M=
1,000,000 1,000
OZETZY A SXIZZ
1,000,000& 1,000
OUANFSATALX, S 82 & UE MA
2,000,000 2,000
OUANFSALALX E2lal Uz ME
2,000,000& 2,000
OREAY RX| B2 H2B
1,000,000& 1,000
OSTRIEI X2 KA
1,000,000 1,000
Ol 6,000
OSAeHY FHY LR
3,000,000& 3,000
OB 2WAIY 23X Y2EZ
3,000,000& 3,000
03 A=l 10,000 20,000 10,000
OS72g A H= 10,000
OB HEXS IHF
10,000,000 10,000
202 04| 3,776 3,69 80
01 2L A LI 3,776 3,696 80
O=U04d| 3,776
OSSN T &S HAZ A ZEAME =
& 2AHD|I2 §o 1,676,000& 1,676
OS&d Alge= |22 g2
700,000 700
Oy d=ole SEHA 25 82
700,000& 700
og=xJlg 823 =29 700,000 700
401 Al HIZL 201 10,000 50,000 240,000
01 Al&H| 10,000 50,000 40,000
O 28 NFA 10,000
OA7EN =8 M=
5,000,000& 22 10,000
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3 sHFy=Ist
St AEZge| &4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=HSXteteal A K& 61,000 61,000
201 er23 | 31,000 31,000
01 AlR 21| 31,000 31,000
OEEES=] 28,000
O=HEBRLEE B2S KA
8,000,000 8,000
O=HENES HESEH
20,000,0002! 20,000
o=zl 3,000
O=HBREES A N
3,000,000 3,000
401 AIEHIZ SR THYI 30,000 30,000
04 HARZHEAI 2] 30,000 30,000
O=HNSAetegzl =8 WS AE s N
30,000,000 30,000
EXAMAX R (EX) 500,000 0 500,000
= 200,000
Al 300,000
308 AXIHSOIA 500,000 0 500,000
= 200,000
Al 300,000
11 SIS0 B A A AEY 500,000 0 500,000
O=NSAEal Nzl X
500,000,000 500,000
== 200,000
Al 300,000
SN (FELTRIXR) (EX) 268,140 299,970 A31,830
= 149,670
== 18,8%4
Al 99,576
201 2= 20,000 10,000 10,000
= 10,000
S 2,000
Al 8,000
03 &A= 20,000 10,000 10,000
OUANSSHAAI] FEFHAH 22l X
el 10,000,000 10,000
= 5,000
= 1,000
Al 4,000
O3St AL A2l N2
10,000,000 10,000
= 5,000
=S 1,000




M =28
B =oiAmeiYs)
Rl AlEgel &4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 4,000
307 21201 & 248,140 260,000 211,860
= 139,670
= 16,8%4
Al 91,576
02 2B YA AR A 248,140 260,000 211,860
OUAFZARHA FAFYAA LXel 2
28 S A& 198, 140,000 198,140
= 110,920
= 13,544
Al 73,676
OBy HEFLRelXF eIl § K&
50,000,000 50,000
= 28,750
= 3,350
Al 17,900
ST (HEAMY) (EX) 85,000 84,000 1,000
== 50,000
Al 35,000
307 212+01& 85,000 84,000 1,000
< 50,000
Al 35,000
02 2IZHB A E & 85,000 84,000 1,000
OSHdPary SIEE o5y XA
85,000,000& 85,000
= 50,000
Al 35,000
ESSHE M 245 (EX) 32,400 0 32,400
== 10,800
Al 21,600
307 212+01& 32,400 0 32,400
< 10,800
Al 21,600
02 LB HAHE L 32,400 0 32,400
OESsH= MUl 243 A
32,400,000& 32,400
= 10,800
Al 21,600
EXY SSEE IS HMelde 2H(EX) 600,000 0 600,000
= 300,000
= 150,000
Al 150,000
403 MR HHMSAHE01H 600,000 0 600,000
= 300,000
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M JlsEs
M =OIAR2A25}
[ R} —/

&l AEY2] =4 (SH &)
- _ olE|
SA - B S(BH) - MISAY - BAS Ofl kot o%&% HR=2
= 150,000
Al 150,000
02 20 12S0USHA=E R E A 600,000 0 600,000

O3S SSEE SIS MeldE 2
= 600,000,000& 600,000
= 300,000
= 150,000
Al 150,000
HM2ALHI(DI=E2) 33,960 32,520 1,440
Jl2dul(OlsE=n) 33,960 32,520 1,440
J12ddl(Ol=E2=1) 33,960 32,520 1,440
202 044l 28,800 27,600 1,200
01 =LA LI 28,800 27,600 1,200
OSEZ0I 100,000& x24H 122 28,800
203 FR=4| 5,160 4,920 240
M FA2HLRFEI 5,160 4,920 240
Ol=EsH 430,000& * 122 5,160
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